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Receive your v3 and receive your ;712102; what is the ruling

OVERVIEW

X127 asked 7am1 27 what is the ruling if a man writes a v2 on a golden platter (which
is worth the amount of her 7121n2) and said to his wife, here accept this vi and it will
(also) be full payment for your 7121n3; is it a valid v3 or not? MdOIN explains what is
the reasoning that it should not be valid.

mooIn anticipates a difficulty:
— t9ya ANIN SIDON YY 1aNIT ) Y 9N

Even though the ruling is that if he wrote the V3 on IRI77 0K, the V3 is W2 —

mooin replies and distinguishes between 71X *110°R and our case:
1999 19103 XIX 1Y 2515 XY XN YR VAN 93 NI AY 31T DIV 1NN
That is because by X171 10°R he is at least giving her the entire v» as a vJ;

however here in our case he is giving it to her only as payment for the 72103, but
not as a W3 per se.

SUMMARY
Giving a v) which is 7XI72 MOX is more W2 that giving a Vi as payment for the
1121N2.

THINKING IT OVER
How can we differentiate between the case of 7°n21n3 *22pnm v “22pn7 where she
is nw A, and the case of *»w 7°3m 0 1">777 where she is not w72

" If we would maintain that ;X377 *10°X ¥ 1203 is 9109 (indicating that he must give her something of value for the vx
per se), then we would understand that in this case the entire value is being given only for the 72105 and nothing for
the 03, therefore as far as the v is concerned he did not give her a v with any value. However, now that we maintain
qW> ARIT ONOR %Y 1205 (indicating that there need be no value in the v3 per se), why, if he is giving the entire v3 as
payment for the 72103, should that effect the N17w> of the wva.

? The letters of the v3 are “flying in the air’ (MAM2 NPMX [see NN 71X "7 *"wA]) since the platter is for the 72103
payment which he owes her (and not for the v3). See ‘Thinking it over’.

? See *"xon and 7yn MR "
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